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PREVIEW QUESTION BANK(Dual)

Module Name : Library and Information Science
Exam Date : 13-Jun-2023 Batch : 15:00-18:00

Sr. | Client Question
No. ID

Negativ

Question Body and Alternatives Marks Marks

Objective Question

1159001 The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during

the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4.50.000 and 5.20.000.
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B C D E
2021 15% 25% 30% 10% 20%
2022 10% 30%  25% 25% 10%

What is the difference between the number of Model-C Mobile phones produced by the company i the years 2021 and 2022 ?

. 5000
. 7500
. 10000
. 2500

F & S e § U Su gR1 Ay 2021 R &9 2022 F SNF Seled Aleea B & Uid a1 fea (A-E) $1 v fGaxn g @ g1 S
g1 ad 2021 R 2022 # SEifed HEEa B 21 Ha e HEEE 4,50,000 SR 5.20.000 §1 @ # R W el F o myg S 195 F
IWE

R

HIETSs FF & Hisal &1 9i-ar " (%)

Atswy o A B C D E
2021 15% 25% 30% 10% 20%
2022 10% 30% 25% 25% 10%

7d 2021 3R 2022 ¥ $91 5 SaIied Ais0-C & AEsa B & 99 & & fha a2

. 5000
. 7500
. 10000
. 2500
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Objective Question

239002 The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during

the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4.50.000 and 5.20.000.
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B & D E
2021 15% 25% 30%  10% 20%
2022 10% 30% 25% 25% 10%

If 85% of the number of Model-E Mobile phones produced by the company during 2021 and 2022 were sold, then how many Model-E
Mobile phones were left unsold by the company?

. 142800

. 21300

. 29100

. 25200

Fr2 & S e § U Su gR1 Ay 2021 R a9 2022 F ENIA Seled AreTea B & Uid (41 " (A-E) $1 v fGax g @ g1 S
g ad 2021 SR 2022 # Seifed Hasa BiF S G Se HA%: 450,000 SR 5.20,000 T At # iU T HESi F AR R USSR 195 F
TWE

B

HIETSs $IF & Alsal &1 a4-ar Jawd (%) G

Atswy o A B c D E
2021 15% 25% 30% 10% 20%
2022 10% 30% 25% 25% 10%

afe o= g o 2021 3 2022 F SN Sdiied Aisa-E F HEsd B 8 9 85% &% U S F U Aisd -E & fhod Aega vR T e w
Ta?

. 142800
21300
. 29100
. 25200
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Objective Question

339003 The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during

the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 450,000 and 5,20.000,
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B & D E
2021 15% 25% 30% 10% 20%
2022 10% 30% 25% 25% 10%

If the number of Model-A Mobile phones produced by the company in 2022 was the same as that in 2021, then what would have been
its approximate percentage share in the total production of 2022 ?

. 11%

. 13%

. 15%

. 9%

Fr= &1 7 arfee | us Sul gR ad 2021 R ad 2022 F RE Iafad Aegd BiF & i [&fiE Aisa (A-E) &1 afaee fEawo gt m g1 Sud
grrad 2021 R 2022 & SAIfed AT B $1 Ho 9ol HER: 4,50,000 IR 5,20,000 31 @@ # QUM HES S AR WAY FEN 1§ 5 F
TWRE

P

HETSa B & Alsal 1 9-aR JRd (%) faw

Atswy o A B c D E
2021 15% 25% 30% 10% 20%
2022 10% 30% 25% 25% 10%

afe Sut g1 o 2022 & Sanfed Ts@-E & Aeed BiF & ge ad 2021 § Sefed 950-A F AEEd BH ol Sen & W R ag ad 2022 F
T FEGA ST WTHT TFa wie g8 g
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Objective Question
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The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during
the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4.50.000 and 5.20.000.
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B G D B

2021 15% 25% 30% 10% 20%

2022 10% 30% 25% (25% 10%

The number of Mobile phones of Model-B in the year 2022 is approximately % more than the number of Model-D

Mobile phones in the year 2021.

. 240

.92

128

. 247

2 & 75 arfere # ue ot g ad 2021 R ad 2022 F SRE Fanfad Aega BiF & did faftm Asal (A-E) &1 afoee faawor gntan m g1 e
R a9 2021 3R 2022 ¥ SEIfed AERa BF # FW @ A 4,50,000 3R 5.20,000 ¥ @S A R T HFS F AR RIE TSN 1ISF
TWE:

b =

o

HETga B & Alsdl 1 99-aR AREE (%) e

Hisa/ a9 A B B D E
2021 15% 25% 30% 10% 20%
2022 10% 30% 25% 25% 10%

ad 2022 # Afs-B & A5 ®IF $1 Wem a¥ 2021 & Als0-D F AEsa B @ 9@ § THT % Hffs 21
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Objective Question
5 59005
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The following table shows the percentage distribution of five different Models (A-E) of Mobile Phones produced by a company during
the years 2021 and 2022. Total number of Mobile Phones produced by the company in 2021 and 2022 is 4.50.000 and 5.20.000.
respectively. Based on the data in the table, answer the questions 1-5

Year-wise Percentage (%) Distribution of Model of Mobile Phones.

Model/Year A B C D E
2021 15% 25% 30% 10% 20%
2022 10% 30%  25% 25% 10%

What is the ratio of the number of Mobile phones of Model-C.D and E in the year 2022 to the number of Mobile phones of Models B,
C and D in the year 20217

. 18:17

.25:19

.16:15

. 14:15

2 & 75 arfere # ue ot g ad 2021 R ad 2022 F SRE Fanfad Aega BiF & did faftm Asal (A-E) &1 afoee faawor gntan m g1 e
g af 2021 R 2022 § SErfed AETET B S $0 99 HER: 4,50,000 R 5,20,000 2 RS AR TU AFS S MR WA TSN 1T 5 F
FTWE

b =

o

HETga B & Alsdl 1 99-aR AREE (%) e

Hisa/ a9 A B B D E
2021 15% 25% 30% 10% 20%
2022 10% 30% 25% 25% 10%

ad 2022 #HEA-C, D SR E F Aioga BF #f Se aul 78 2021 § #sa-B, C 3R D & AaEa BF & S8 $1 g fea 22

. 18:17
. 25:19
. 16:15
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Objective Question
6 59006

file:///E:/JUGC NET/DAY 1/Day 1 zip/42_Live_Lib_info_Sci_B1_E/42_Live_Lib_info_Sci_B1_E_1-100.html 5/66



6/13/23, 6:59 PM 42_Live_Lib_info_Sci_B1_E_1-100.html

If Ram is not able to understand certain concept in a particular subject and is continuously performing poorly in that subject, which
evaluation test will have to be conducted to know the cause of his difficulties?

1. Placement Evaluation
2. Diagnostic Evaluation
3. Summative Evaluation
4, Formative Evaluation

afe 3 U 92 fova & oo aheared &1 gusH § 904 g ¢ 3ik 98 99 fdwg © 9ad w9 & e o1 Fuea sx @ e, d
ITD HIGAIZTl B HRUI &1 Udl T 5 B 1H-91 e id IRI&0T SIferd S g7

1. R i
2. FEMIES Jedie
B ATED Hedi

3
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Al
A2
A3

Aty
4

Objective Question

739007 Which of the following levels of teaching involves the highest order thinking skills?

1. Memory level

2. Understanding level

3. Reflective level

4. All levels involve similar thinking skills

Rremr & Fgifed TRl 4 O s Sean Ra s wy a9y 82

TR0 &R

L HIY WR

. gfdad R
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Objective Question
8 59008
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Which of the following are the online tools used for creating and sharing mind maps?

A. Coogle

B. Flipgrid

C. Mindmeister
D. Google forms
E. Miro

Choose the correct answer from the options given below:

1.A.C & Eonly
2.B.D E only
3.A&Conly
4.B & D only

frafafad § 9 H-3 farg- Suaul 44 =0 & goi iR 9150 S 5 W fau o 82

A TTA
B. Rais

C. IEeHRR
D. T B
E. Ot

i feu U fadedi T 9§ |l 3R &1 90 I :
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2.$ddB.D E
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Objective Question

9 39009 Which of the following is an example of an inclusive learning environment?

. A classroom where students are expected to conform to strict set of rules and regulation.

. A classroom where only students of a certain ethnicity are allowed to participate in class discussion.

3. A classroom where students are discouraged from asking questions or challenging the teacher's authority.
4. A classroom where all the students are encouraged to share their unique experiences and perspectives.

[ SR
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Objective Question

10159010 Given below are two statements:
Statement I: Teaching at the understanding level invelves encouraging students to think critically and reflect on their learning experiences
Statement II: Teaching at the memory level invelves rote memorization and does not encourage critical thinking.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II is false

4, Statement I 1s false but Statement II is true

BIEEAGAIEACLE]-F

g;t:r%l; T WR R g0 § faenigl o1 Seitenas =0 ¥ = 3R 96 S shyal & SR 3 Wieiied S Jad
|

HY 11: TR KR R (R0 § e SR GHIY 811 & SR SATda-1es [ ol Wieied 761 al g
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Objective Question

11759011 Given below are two statements:

Statement I: In observational research. the variables are actively manipulated and the environment is as controlled as possible.
Statement IT:Observational research allows you to eliminate the influence of many extraneous factors.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II is false

4, Statement I 1s false but Statement II is true

= APy Ry E:

TUA 1. HAGATHD STEUT H TR H Wehd 99 T £3-5= (571 Sl § SR arara<v] H1 741 ¥ya Fafd fear s gl
BYT I1: AT BAIETD HTHYTT HTID] B Sl PRUI 5 YHTE DI &L B Bl SAM Sl &1

SRIT BY & Tl 1, - 3T T fdPedl T 3§ 9a¥ I9ge o Bl 99 DITeg;
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Objective Question

12159012 \hen the researcher's sex affect the behaviour of a participant in a study, it refers to

1. Psychosocial Effect
2. Psychological Effect
3. Biosocial Effect

4. Environmental Effect
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Objective Question

13 |59013 Arrange the following scales of measurement from the simplest to the most evolved.

A. Ordinal
B. Nominal
C. Ratio

D. Interval

Choose the correct answer from the options given below:

Iql_—t
w0 W

P oow
SRS
negdg
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A4 &1 FgfaRad Al & 9ad 2ifde 33d O 999 AYs [deiad & oH H 39|
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Objective Question

14139014 When studies on a given topic lead to similar conclusions, the measurements show

1. Convergent Validity
2. Criterion Validity

3. Divergent Validity
4. Construct Validity

g frdt fou U fava R P 1Al & ue 9rEE e Bid §. O |3 e uiid |-

TR Jeam
REC NS
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A gy

B
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Objective Question

15159015 \which of the following p-values would signify that a sample correlation coefficient is significant at 1% level of significance?

1.0.005
2.0.02
3.0.99
4.0.95

Fafafad & 9 SH-91 p- 7 U8 ST 3 $is Jida Jeda o 1% Fied TR = 9@ 82

. 0.005
.0.02
.0.99
.0.95

R
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Objective Question
16 59016
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Soaps. sit-coms and comics are part of

1. High- brow culture
2. Middle-brow culture
3. Restrictive culture
4. Popular culture

cefifge uRmaTes Rufd Rep-gaifae! 3R Sitey FafaRed 3 3 fewe s

1. FEH Wpid

2. Ty i il
3. Ufdd YT G5pid
4. AT G&pid
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Objective Question

17139017 The first highway of information is

1. Newssheets
2. Telegraph
3. Films

4. Internet

T BT FUH IO © -

. JHER TS
TR (SIS
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Objective Question
18 59018
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The main functions of mass media are to:

A. Make a society static
B. Inform

C. Educate

D. Persuade

E. Entertain

Choose the correct answer from the options given below:

1. A.B. C only
2.A,C.E only
3.B.C.D.E only
4. A, B.Donly

SR "I & 99 O ¢

A,
A,

A, TS Bl R 9T

B. Y=
c. frféa &

D. 3G AT
E. TARSH $AT

i feu U fadedi T 9§ |l 3R &1 90 I :

1. $ad A, B, C
2. A A.C.E
3. %ddB,C.D.E
4. FAAA.B.D
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Objective Question

19159019 Given below are two statements:
Statement I: The digital technology has enabled increase in media consumption.
Statement IT: Analog media are superior in quality, but do not have popular demand.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
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Objective Question

Given below are two statements:
Statement I: Communication can be a path to seek truth.
Statement II: Comimunication can also be used to suppress truth.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I 1s false but Statement II is true

TR ATy RUTE:

HY 1. YO0 T S &1 A0l §1 Iy |

Y 1IN ST AT T P1 g6 & e Hf fear st wear g

SWRIT B & HTele 1, - U T fadel § 3 9a¥ Iugead Sk &1 99 DIfe:

L PYIHR NSH JT &

Y1 IR IS T
YT IS, AT PYT 1 3T ©
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Objective Question
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Objective Question

o =

S Y]

b =

W

11,13,17,19,23, ?, 31, 37

28

25

27

29

.28

25

27

29

4

4

. 30 years
.EEE}'ears
-
wa@ﬁ%ﬁmﬁaﬁm Y Y TS DI 3G B AT 6| D: TY €1 a1 B 1Y DT U 11:6 B ST | T S Bl gaul-
31y fba-t g2

30T9
.28 a9

25 a4

23 a9
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59021 \What number would replace question mark (?) in the series given below?

e e e m e e e e

11.13,17.19,.23.:2. 31,37
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22159022 e present age of the father of a boy is twice the age of the boy. Six years later the ratio of their ages will be 11:6. Find the present age o
the boy?
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Objective Question
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Objective Question

2459024 1fin a certain coding language. PAINT is coded as 93546 and EXCEL is coded as 78271, then how will ACCEPT be coded in that
language?

R

2360
31440
3240
2600

2360
1440
3240
2600

322760
1322076
1232796
322796
afe; fardt e UTST H PAINT F1 93546 3R EXCEL ®f 78271 & &U H Has [dd1 91dl 6. A, ACCEPT &1 fhd TSR Heds [dhal
ST

322769
322976

. 232796
. 322796
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to be given 1/4™ of that of x. How much money will y recieve?
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An amount of T 2040 is to be divided among three friends x. v and z. The friend z is to be given 2/3 of what v has to be given and y has

dH B x, y 3R 2 T 2040 98 &1 fqUITId 501 STRT B | 2 B y BT 2/3 U 30T M1 8 3R y Bl x &1 1/4 UM @ AT 8, dl y B
fepam Sua fide
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Objective Question

25 59025 A sum of money doubles in 14 years. In how many years would it tripple if the rate of interest is considered as simple?

. 25 years
. 28 years
. 18 years
. 23 years

Pl YFRIIRT 14 TUT & SR 61 I § 1 AfE STet &R SR T S, o fara) anf & g i i 10 81 smefe

B

25T9
2809
1899
23T9

b =

=W
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4
Objective Question

26 (59026 Identify the common pattern of deductive reasoning in the following argument:

"If we don't stop for gas soon, then we will run out of gas. If we run out of gas. then we will be late for the wedding. Therefore. if we don
stop for gas soon we will be late for wedding"

1. Denying the consequent
2. Affirming the consequent
. Denying the antecedent

. Chain argument

o
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Objective Question

27159027 Mateh List I with List II

LIST I (Hetvabhasa) LIST II{Example)
A |Ashrayasiddha I |Sound is eternal because 1t 1s audible
B. [Vvaptatvasiddha I [Sky lotus is fragrant because 1t a lotus like the lotus of lake]
C. |Svaripasiddha II1. [Wherever there 1s fire there 1z smoke
D. |Asadharana Savyabhichara) IV. [Sound is a quality because it 1s visible

Choose the correct answer from the options given below:

1. A-IV. B-I. C-II. D-III
2. A-L. B-IL. C-III. D-IV
3. A-IIL B-IL. C-L. D-IV

4. A-IL. B-III. C-IV. D-1

Il 1 BT gl 1 9 e 2o

T & I

FATUTH JEIE0
A [ fog L [t =n%d € i Ug 5l & |

SHTHTRT ThHC YUY § Hifh I8

B. [T L it & e 5 T A B
C [eEuts 101 [Sf&] 3T ¢ dgl Y3 8|
D. [3ETRU FeatHaR | IV. |8 Te 01 § aafte g8 €% o
fafafad faecdl ¥ 9 98t SR &1 999 DI -

1. A-IV. B-1. C-II. D-II1
2. A-L. B-II. C-III. D-IV
3. AL B-II. C-1. D-IV

4. A-IL. B-III. C-IV. D-I

Al
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Objective Question

28 39028 Opserve the following argument and pick the correct answer.
"All pigs are sheep
All sheep are goat
Therefore. all pigs are goats"

A. A valid argument because if the premises were true the conclusion would have been true.
B. An invalid argument because the conclusion does not follow from the premises.

C. The conclusion is probably true.

D. It is a weak argument.

Choose the correct answer from the options given below:

A only
.B &D only
.C &D only
.D only

fafaiaa gfea &1 sradien 3 SR Hel SuR &l 7a- B

i gaR NS ¥
guft S spiaf g
3 gl geR s iar g

A TF ay gfaa § i afg sneR o oo 4 o Fse oft e g
B. U 3fa¢ gfdd ¢ Fifd Fspy anmeR are § el Haad ¢

c. frspef dyad: Ta gl

D. 98 T® GHuR gfad g

- fag g fam el & I el SR &1 90 S -

[

=

A2

A3

A4
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Objective Question

2939029 Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Aggertion A: Atyantabhava is eternal.
Reason R: If a particular thing does not exist in a particular locus at any time. then it is said that there is Atyantabhava of that thing.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

(2]

.Both A and R are true and R is NOT the correct explanation of A
3. A s true but R 1s false

4, A s false but R is true

2 <1 P fAU U §. U DY (Assertion A) & ¥9 H [AREd 8 01 ORI 3H& BRI (Reason R)d U H

DU A: SFTHId WYI B
PRUIR: TS SIS AR =ie fordt o fdt fafy @ W 2ifSia 5 921 8. 9 98 Fe1 9l ¢ o sra=arvmE g1
SWRIGd B & HTele H, i 34U T fadbeti # 9 9ad Iugad ok &1 999 DIy

1. A SRR GH 9§ 3R R, A P Jel oUi&T &

A SRR EFI G T SR R, A P Hel URHT el ©
A GRS AT R GEI TR B
AT AfeTR 9E ®

[

=W

{Xl
fA2
53
{\4

4

4
Objective Question

30 159030 'Fire is cold because it is a substance' represents which of the following Hetvabhasa?

. Viruddha

. Badhata

. Asiddha

. Savyabhichara

o =

Lo
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'3 331 B il a5 TP 5 §
Te Fufafea § 3§ H-a1 Sary sxfar g2

1. fa%g
2. S1i9d
3. Mg
4. JHER
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Objective Question

31 /59031 Computers have evolved from the early mainframe computers to the relatively small smart devices with high computing power being use

today. Which of the following inventions contributed to reduce the physical size of computers?

. Vaccum Tubes

. Transistors

. Integrated Circuits
4. Cathode Ray Tube

FICR] BT fqT YRS BT mﬂcﬁlﬁéﬁm@mﬁwwﬁwgaﬂ%ﬁﬁﬁq%mﬁqﬁcmri 31 &1 wanT fear &
W%!ﬁaﬁ@aﬂ@ﬁm% AP R 7 HreRl & Hifd® PR F Biel 81 § argH a1

L R e R

. Taia AT (dagn =gs)

b2 =

I gfde Gees dide)

FUS Y EE

=

Al

A2

A3
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4

Objective Question
32 59032
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Consider two binary numbers P=10110001 and Q=01001110. If X=P or Q and Y=P and Q. then what will be the values of X and ¥
respectively?

.01001110.10110001
. 10110001.00000000
.10110001.11111111
.11111111.00000000

fg-3mumrd I@mi P=10110001 31 Q=01001110 R AR &3 | Tfe X=p TT Q 3R v=P 3R Q T HHY: X 3R Y HT HH TN 2

o =

o

.01001110,10110001
. 10110001.00000000
.10110001.11111111
.11111111.00000000

[

o

Al

A2

A3

Aty

4

Objective Question

3339033 Given below are two statements:
Statement I: Using 3D printers, prosthetic limbs can be made to exactly fit the recipient.
Statement II: OLEDs consume more power than LCD/LED formats and thus produce more heat.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
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9 v Ry E:
BHYA: 3 -3 fifex] &1 AT IR W@l § $EH STl @ faaga e w9 § T o1 9adi gl

aw:rn;aagqgrﬁ‘é’rw(omns;ﬁwa"rs"r;qaéaﬁqﬂﬁﬁﬁ@m 31T farTell BT EUd Bl § SR 50 TR S S 1 3
ERICE |

JIRIGd PYUH & ATd® |, Ad 130 70 fawedi § ¥ 9el SR &1 994 il

1. PY I 3R n13HI 9a §

2. PYTI AR N EH FTTE
3. DY 1 YA 3. AP HYT I 3 &
4. PYT IR AP pYT I Ed ©
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Objective Question

34 59034 Which of the following statements are valid?

A. Providing the personal information of customers stored in a computer to an insurance agent by the vehicle servicing centre is an
issue related to the privacy of customer.

B. Providing a copy of a single-user licensed software to another party is a piracy issue related to the ownership of the software.

C. Unauthorized access to another person's computer is both illegal and unethical.

D. The 'right to use' a piece of software is termed as Copyright

Choose the correct answer from the options given below:

1.A&D only
2.B & C only
3.B & D only
4. A B & Conly

fafaf@d T oR A sy g 82

A%ﬂ%@??ﬁ%@ﬁﬁ TTED] B SHfaTd Y1311 D1 aTe Hal D5 o> HIHH o Tl SIH1 Toic Bl UET B T6h] Bl

Tafa g

B.ﬁmmwﬁwmwmmﬁwqumﬁ%ﬂm%wﬁaﬁw
AR

c. fodft 3 Tl & FreR a9 3FfiEd 98 S0y 3R 3Rfa® S s gl

D. fo it TireamR &1 IUan %37 F1 AUPR WaRmafieR @ ldREe) Feaa gl

i feu U fadedi T | Hel 3R &1 90 I :

1. PaTANRD
2. HIAAB IR C
3. 999d B 3R D
4. PIT A BIARC
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Objective Question

35 159035 \atch List I with List I

42_Live_Lib_info_Sci_B1_E_1-100.html

LIST I (Internet Term), LIST II (Description)
A, [Browser I. [Protocol that is used to send data for web pages across the internet
B. HTTPS I1. |A text-file (stored by web browser) that contains data about a user's browsing preferences]
C. [URL I1I. |Software that allows users to view web page
D. |[Cookie IV. |A text-based version of a web address

3

4

. A-IL B-I, C-IV. D-III

. A-IIL B-IV, C-I. D-II

. A-L B-III. C-IL. D-IV

AL B-I1. C-IV. D-IT

Choose the correct answer from the options given below:

1 1 g 1 @ v AR
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1
g_ﬁ- _— Tt 1 (R
% Wicidid el 3Udif OX e3-e OX a9 Ui
A TSR L ik, :
&5 10 stidre Noi g 6 dl Wil g1
d8 <R BI3d (39 ST9oR gRI HSIRd)
B. [T@ A& 0 wd @rTes) | 1 [Sed od sariomd o ssfsi siirefat
&5 SR H oS Bid &
C. @R ud URL) 111 [a§ SiTedaR forad yaiadl 94 Ul 6@ Urdl o |
D. 1v. [6 Ud @1 ToRe SYIRd Sax
fafeiad fadedl § 3 Fet 9ok &1 = Bifeu -
1. A-IL B-I, C-IV, D-III
2. A-III B-IV, C-I, D-II
3. A-L, B-IL C-II. D-IV
4. A-III, B-1, C-IV, D-II
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2
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Objective Question

36 |59036|| A Quality Index (AQI) is represented in

. Unit of pg/m?® (microgram per meter cube)
. Unit of ppm

. Percentage (%)

. Numbers

A TUTa JABI (T T 3H1S) P Faiid g1 ol g

W o =

. ug/m? (ATSH] T Uid Hiexd ) &1 3d1s &
. ppm Gl Qfﬂﬁfl

T (%) §

gy

[

W

Al
A2
A3
A4

4
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Objective Question

37 59037
Given below are two statements:
Statement I: Concentration of Formaldehyde in indoor environment can be thousand times higher than outdoor environment.
Statement IT: Formaldehyde is a known carcinogen.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I 1s false but Statement II is true
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B 1: FIR & IR P aIdTaR0] § BHcSEEs &1 9isU HHR & a1ex d aldioxvl &1 ga-l 3 ok 1 gidl 8|
P 11: HTHCSEIES TS T1d HIRoH g

TWRIA HY & 3HTelid T, i 30 T fabedi T 9 a9 U Ik &1 94 HITHT:

. BT ARG TR T

2. BYT 1 HR 11 Tel T8l &

3. PYT I 8. AP PYT L Tad §
4. PYTITETR. AP U I TS ©
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Objective Question

38 59038 1) wwater treatment Aeration is the process which

1. Removes excess and objectionable gases

2. Readjusts the pH of water

3. Removes the large particles of floc from water
4. Removes the solid particles

d WA H gra (TR) T wisar § o -

1. Jffafvead 3R smufasHs 19 &1 e o g1

2. O & pH A &1 g FHfd far S g

3. 9T R ST (TRAT) & 93 B0 &1 R fvdT ST 81

4. B B B R T ST |
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A2 5
2
A3 3
3
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Objective Question
39 59039
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Which of the following are classified as hazardous substances?

A. Activated substances

B. Ignitable substances

C. Corrosive substances

D. Reactive substances
E. Toxic substances

Choose the correct answer from the options given below:

LA
2.B
3.A,
4 A
Fafafad ¥ 9 fos @ae verd & &9 d aiffed fear T g2

A. Tfepfia gard

B. Sgg gar

C. e gerdf

D. Wfafsharea® gary

E. foue uemef

i feu U fadedi T 9§ |l 3R &1 90 I :

1.9dd A, B.C.D
2.$addB,C.D.E
3. $adA.C.D.E
4. PGTA.B.D.E

Al
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Aty
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Objective Question

40 159040 \hat is the limit of water availability for a region to be classified as water-stressed region?

1. Less than 1700 m/ person/year
2. Less than 2000 m?/ person/year
3. Less than 2300 m®/ person/year
4. Less than 2500 m®

ofd B HH! ATl e & (@rex B o) & ¥ 8 aifled [t 89 & Ry o 3t Sudsua & Sa |1 g2

/ person/year

1700 m®/ Afad / a8 ¥ 7
. 2000 m?/ oOfGT / a9 ¥ TH
. 2300 m® SOfGa / a9 A HH
L2500 m®/ G / oY & HH

S O
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Objective Question
41 59041 = : s , £ ril1e7
Among the following skills, which are considered as soft skills?

A. Decision making
B. Marketing

C. Communication
D. Contlict resolution
E. Leadership

Choose the correct answer from the options given below:

.B & E only
.A.C &E only
.A.C.D & E only
.B & D only

FrafiREd o 9 T IRl ol 73 DR (A% [Kpa) Pl ol 82

A, fofgs

B. fauuH

C. 99R

D. qdYe qH1e™

E. 7
A feu Tt fap eyl § 9 9El SR &1 =99 B ;

b =

RN V]

1. $adB AR E

2. $dd A, C IRE
3. $ddA, C.D 3IRE
4.FHaAB ARD
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Objective Question
42 159042
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Which of the following are recommendations of the NEP2020 for improving the quality of higher education in India?

A Introduction of National Research Foundation.

B. Accreditation of all higher education institutions

C. Integration of Vocational education into mainstream education.

D. Establishment of National Higher Education Qualification Framwork.

Choose the correct answer from the options given below:

. A &B only
.C &D only
3.A.B&Donly
4 AB.C&D

fafarad ¥ 99 YRd & I=ar e &1 Juar § GUR gq 5 [RIal USid (T 5 ) 2020 BT Rei

A Y G

B. T4 SwaR R T=Ml &1 ydrad

C. AGHIAS RI& B GEIURT X161 § gaa
D. TP F==eR TRI&T e ShHadh o1 RG]

i fau U fasedi T 9 Ig1 3R &1 98- Bifo :

o =

1.%Had AR B
2.%ad C IR D
3. PAAA.BIRD
4.A.B.C 3RD
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4
Objective Question

43 539043 UGC was established on the recommendation of-

1. University Education Commission
2. Higher Education Commission

. Ministry of Education

4. Planning Commission

g off T Bt ' o R R &t g

¥

1. Toyfaeme Ram smam
2. 3= fRuefr 3mamt

3. e daTerm

4. TISHT AR

Al
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Objective Question

4459044 Which of the following is incorrect in the light of the effects of the expansion of higher education from the mid 1850s.
A. Curzon's universities reform were a high point in the development of the official attitude towards the spread of higher education.
B. The attempts were part of the wider programme of reforming Indian society and purging out of evils such as sati ete.

C. Two universities in Calecutta and Madras were established in 1857 and colleges became an integrate part of higher education.
D. Only those students were admitted to the colleges who had passed the entrance.

Choose the correct answer from the options given below:

1LA&B
2.B&C
3.C&D
4.B&D

Fafafad ¥ o0 9 1850 & 99 396 T IR & & f9ER & UyiEl & 3idie o 7Tad g2,

A. Poid BT fayfdere GUR IR RigT & THR 3 fa=n 8 WK fighi & o T te 3= fdg ol

B. & TR YR THTS & R Gl it H2T SRl aR1gal @l TH76 8 g8 e Gad] o SRihH P e YR Y|

c. 9 1857 § g1 fayfaenag ool aul HsE 5 20fid f6u e qu1 geifdencd SR &1 &1 Ue e ym &= 7
D. TeTidenedi & St faential @i wasy firer o1 il vaw geien 3 Sivl gid 2|

i feu Tt [dd el § U Il 3R &1 94 Sl :

 A3RB
B3RC
.C3RD
B3RD

R

W
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Objective Question
45 159045
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Given below are two statements:
Statement I: In the Vedic age both men and women had access to education.

Statement IT: Woods Despatch (1854) recognised for the first time that the Government should give 'frank and cordial support' to feamle
eduacation.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II is false

4, Statement I is false but Statement II is true

TR P UM E:
PYF 1. AP P11 B GoN SR A <141 1 e st off|

B 11: G5 fSXUT (1854) T Ugel IR 59 910 & TG & 75 [ IROR & KT e & Iy gaas aun Asqul Semdr Ve
FHeA gley|

TR Y & Tl 1, i [T T f[qPeti ¥ F 96 I9ge SoRk BT 99 DITe:

L HYT1 AR S 9T §
HYTI AR U SH AT &
. HYT1 TSI 8, AT Y 1 T ©
YA 17T B, Al U1 GEl §

[

W
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Objective Question
46 59046
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face fro1
their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti Shalini
recently brought out an incisive report, Unkahi-the Unspoken, documenting the rise of violence against women from natal families during
the pandemic.

Normally. the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So, to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years. with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the inerease in the incidence of marital violence, but single women living with their natal
families had similar experiences.The honorary secretary of Shakti Shalini. says,"Natal family violence is a phenomenon which 1s
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of 'family as
cohesive unit, it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially girls
and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and psychologic:
tramma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three women reported
physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm. in 60% of the
cases. it was both male and female relatives.

In the passage 'natal kin' refers to

A, Stranger

B. Parents

C. Neighbours

D. Close relatives

E. Brother and Sister

Choose the correct answer from the ontions eiven below:

e T $1 uty &R 2y g uet & o difen

afzead & faes Ba ofe w0 & auT 5% Ol 9 51l Teal At & fes B9 21 9 9ot 399 od S9e) aiaR arar S Rder! ke
HIEI- a1, HIS-957 ordl Foeid NaaR! g 9edl & 3981 SR 96l (491 9l 81 95 o fRE R-SEN 964 (4 of o v mRkM Y A
TR (e sFwer uEiiE $1 8 fed gerd & ENE uiant | afwed & G B ¥ ofs =1 geuw & @ 21 9w o 9 o8 o 9 6
Ayt ®1 TETaT B 1R Yol 5, TRg HEHRT % SN O IR fe@l Xel s A & O aee RIgT Aegw T8 gl oy it i 1 fRwaa
F1 ga H giar # e Todie! Neder § T9 ot © Tt Gy T 5o Sian Siie g SEyRn § B IR $ ae-gg aul (e gadt Irife aur
WIGHTET® IS Te H &1 03 WHRIY TH aUl 3% ae410 &1 S8 Tl oial ¢l Wfed Wit &1 srgg= 33 afgesd &t @ . «rufd o1 &
18 § 27 auf & omg o =1 of 3R S8 65% Aead 22-27 oG o1 ST ff W AgENE F SR T o o B Gedr S 2R H o off | 596 ¥ afetm
Afza SwEer aul 9 g T B ff | memn ¥ <ee s i ol | darfte B F vemedt # ofE F ' @ ft g 79 § O 9ReR # sfdariea
afzens &1 0 58 SR F sgya § oA g5 wfEd miee # o 9fve J Fe, 9 9 os uReR § Ba #1 geand wue § Heaes 6 § 9 e
T T 3 59 Y UF ST TS0 31 Sawaddl 31 Teit 5ARI A TRAR & U6 GUus 507 & w0 7 596! (81 &1 aral Sal & W J81 95
PR B B OS¢ #t ThEr H ff 586 sk T, ERue asfedl o afgasit & R gofoer &1 feR 59 51 aae 21 39 Akt S
T ¥ g5 UGN § gaiaeR ayl 9aq S99ER & 9 ¥ Sard] aul 984 WIaHIETE goider gyl A Senl 1 T gars | 59 gH @1 20 ¥ 15
Afgenad &1 IR Ut aifee e, fored yws are o mfta & &1 99 S gen 9 afgaedt § 2 gefaer au e T wad fdaw @ awsl 3
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Objective Question

47 39047 Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face fro1
their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti Shalini
recently brought out an incisive report, Unkahi-the Unspoken, documenting the rise of violence against women from natal families during
the pandemic.

Normally. the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So, to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years, with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
clagses.

Media reports during the pandemic highlighted the inerease in the ineidence of marital violence. but single women living with their natal
families had similar experiences. The honorary seeretary of Shakti Shalini. says."Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of 'family as
cohesive unit', it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially girls
and women.”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and psychologice
trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three women reported
physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm. in 60% of the
cases, it was both male and female relatives.

Shalkti Shalini is

. A Government Organization

. A Trust

. A Research Institute

. A Non-Governmental Organization

| S

Lo
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face fro1
their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti Shalini
recently brought out an incisive report, Unkahi-the Unspoken, documenting the rise of violence against women from natal families during
the pandemic.

Normally. the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So, to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years. with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the increase in the incidence of marital violence, but single women living with their natal
families had similar experiences.The honorary secretary of Shakti Shalini, says,"Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of 'family as:
cohesive unit, it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially girls
and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and psychologic:
trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three women reported
physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm. in 60% of the
cases. it was both male and female relatives.

All statements related to Shakti Shalini study are true except

1. It was based on violence against women from natal families during the pandemic.
2. It was the result of women approaching Shakti Shalini for help.

3. It concluded that 75% women faced physical and verbal violence.

4. It found that person responsible for violence were only men.
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Objective Question

49 159049 Read the passage and answer the questions that follow:

Vielence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face fro1
their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti Shalini
recently brought out an incisive report, Unkahi-the Unspoken, documenting the rise of violence against women from natal families during
the pandemic.

Normally. the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So, to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years. with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the inerease in the incidence of marital violence, but single women living with their natal
families had similar experiences.The honorary secretary of Shakti Shalini. says,"Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of 'family as:
cohesive unit', it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially girls
and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and psychologic:
trauma. Fifteen out of 20 women in the study faced physical and verbal wiolence that included being slapped. Three women reported

physical abuse while one was threatened with foreed marriage. In terms of the identity of the person who caused harm. in 60% of the
cases, it was both male and female relatives.

Given below are two statements:
Statement I: The majority of women in Shakti Shalini study belonged to the working and lower middle classes.
Statement II: Women are protected in their natal families.

In the light of the above statements, choose the correct answer from the options given below
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Read the passage and answer the questions that follow:

Violence against women comes in many forms and from various sources. One that is not highlighted enough is the violence they face fro1
their birth family or natal kin-parents, siblings or close relatives. New Delhi based non-governmental organisation (NGO) Shakti Shalini
recently brought out an incisive report, Unkahi-the Unspoken, documenting the rise of violence against women from natal families during
the pandemic.

Normally. the natal family is the one a woman turns to for help. but during the pandemie, staying at home did not always mean staying
safe for many women. A woman complaining about violence from a partner is more easily believable than one who makes such a
allegations against her family conditioned as we are to the concept that elders and immediate kin offer protection and physical and
emotional safety. So, to name and shame them is not easy.

Shakti Shalini's study was based on women who approached the NGO for help during the pandemic and encompassed those between 18
and 27 years. with 65% of them belonging to the 22-27 age group. A majority of these women belong to the working and lower middle
classes.

Media reports during the pandemic highlighted the increase in the incidence of marital violence, but single women living with their natal
families had similar experiences.The honorary secretary of Shakti Shalini, says,"Natal family violence is a phenomenon which is
structurally based in our society and therefore. needs a structural approach. Though our society lays a claim on the integrity of 'family as:
cohesive unit, it equally needs to be accepted that family is as much an environment of abuse of its vulnerable members especially girls
and women,”

The women spoke of abusive and coercive behaviour from their natal families and all of them reported emotional abuse and psychologic:
trauma. Fifteen out of 20 women in the study faced physical and verbal violence that included being slapped. Three women reported
physical abuse while one was threatened with forced marriage. In terms of the identity of the person who caused harm. in 60% of the
cases. it was both male and female relatives.

Natal family vielence is difficult to believe in because

A. The family is seen as a cohesive unit.

B. Women turn to the natal family for help.

C. It 1s believed that elders and kin offer emotional and physical safety.
D. Naming and shaming the natal family is easy.

E. Women in the family support them.

Choose the correct answer from the ontions eiven below:
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31159051 (1P stand for

1. World Intellectuals Private Organisation
2. World Index Property Organ

3. World Intellectuals Property Organisation
4. World Internal Programme Organisation
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3239052 Which of the following web portals is not outcome of the recommendation of
National Knowledge Commission

. ntm.org.in
. niscpr.res.in
.nkn.gov.in
.nhp.gov.in
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. ntm.org.in
. niseprres.in
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.nhp.gov.in
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